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0.675 m3 = 0.750 * 0.300 * (3.000 + 0.000 + 0.000 + 0.000)
] 2 B = (GREIIRE X Ex - B X (ELEE + WELER) + GBEIIE X B4 X (RIFLE + ARLER))
2.277 m3 = ((0.750 * 1.015 — 0.002) * (3.000 + 0.000)) + (0.750 * 1.015 * (0.000 + 0.000))
LR 1 [k = mlE X (ETHEE + RIEE + AREE + HEER)
2.250 m2 = 0.750 * (3.000 + 0.000 + 0.000 + 0.000)
M IR 9 [BE = WEE < (LTEE + AHIER + AREE + MELER)
2.250 m2 = 0.750 * (3.000 + 0.000 + 0.000 + 0.000)
AL 1R 3 [ = WHIE X (TR « /BER + AHIEE + WEEE)
2.250 m2 = 0.750 * (3.000 + 0.000 + 0.000 + 0.000)
BAZIE IR 1 [BE = wlE X (ETHER + AREE + AWIER + MALER)
2.250 m2 = 0.750 * (3.000 + 0.000 + 0.000 + 0.000)

kT 2 AKE R




T T % E 8 E E (fF B % )
BRETETEES : 12007200 H#)%ETE]
IEEs | 02 | I@EW  |XKBHAPESS50Q - rES [ 11 | JL—r&% [H2PE650240%E (BiE-1.20)
JEFEp & |t 3 L 151 / it 3 =
AT IH 2 |HEE = AR X (EIER + RIEER + URER + MEER)
2.250 m2 = 0.750 * (3.000 + 0.000 + 0.000 + 0.000)
PEHIHE O B L 1 |[Z&E = WHE X BEA X (ETIERE + RIIEE + RIIERE + MEIER)
0.675 m3 = 0.750 * 0.300 * (3.000 + 0.000 + 0.000 + 0.000)
PEHIHE O R L 2 FHE = (REIE X B - EFmfE) X LTHER) + (RAE X BEA X (RIIEE + RIIEE + MEIER))
1.040 m3 = ((0.750 * 0.465 - 0.002) * 3.000) + (0.750 * 0.465 * (0.000 + 0.000 + 0.000))
B AL 1 |FEREEE = WEE X BEAi X (ETIERE + RIEE + RIEE + MEIER)
(Bl EEHEHI) 0.337 m3 = 0.750 * 0.150 * (3.000 + 0.000 + 0.000 + 0.000)
o Uy ] 1 [FE = iERAEUE L=
(Bl EHEH) 0.337 m3 = 0.337
5% AL 1 |%E = wHEELE
(HEH!) 0.675 m3 = 0.675
B ALy JE 2 |HE = wHIEE &
(HEH) 2.277 m3 = 2.277
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T T & 2 %+ B & (8 & % )
BHEEEEBS . 12007200

TiEES | 02 | THESW [AB/HAPES50Q = [ 12 | L—r&# [HAPE$ 50275 (i -1.20)

[EE] EHEEEEE A

4 B 1 [lE = (ETHEE + ARVIER + AREE + MEER) + (KRG - W@ mbg) X MFmEI) X ki
11.700 m = ((5.850 + 0.000 + 0.000 + 0.000) + ((0.325 — 0.325) * 0.000)) * 2.000

AL 1 [HE = wlE X (ETHER + AREE + AWER + MEALR)
1.901 m2 = 0.325 * (5.850 + 0.000 + 0.000 + 0.000)

] 1 [ = (GEHEIE <X E% - Sm) X (ETER + MEER) + GEHE X Eh X (RREE + RIFLER))
1.338 m3 = ((0.325 % 0.710 — 0.002) * (5.850 + 0.000)) + (0.325 * 0.710 * (0.000 + 0.000))
] 2 B = WEIE X BEA X (ETHER + /EEE + ABILE + MELER)

1.055 m3 = 0.325 * 0.555 * (5.850 + 0.000 + 0.000 + 0.000)

LR 1 [k = mlE X (ETHEE + RIEE + AREE + HEER)
1.901 m2 = 0.325 * (5.850 + 0.000 + 0.000 + 0.000)

BAZIE IR 1 [BE = wlE X (ETHER + AREE + AWER + MALER)
1.901 m2 = 0.325 * (5.850 + 0.000 + 0.000 + 0.000)

HAZIE 1A 2 [l = mEE X (LTEE + RRERE + RABER + WIER)
1.901 m2 = 0.325 * (5.850 + 0.000 + 0.000 + 0.000)

e 1 [ = BEIE X B X (ELEE + 2FER + ARER + MELER)

1.349 m3 = 0.325 * 0.710 * (5.850 + 0.000 + 0.000 + 0.000)
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+T T &% E ft E & (& B % )
BRETETIEES - 12007200 H#HEE]
| TiEEE [ 02 | TiHESEH [ABHAPEGS50Q - rES | 12 | L —r&%  [HAPE ¢ 50@%5% (13- 1.20)
JEFE R IEIN il B Al 15l / it B BN
FEHIH D R L 2 |EdE = (ARHNE X JEH - B X BTIER) + (RHIE X JEA X (RIBIEE + ST E + MEER))
0.587 m3 = ((0.325 * 0.315 — 0.002) * 5.850) + (0.325 % 0.315 * (0.000 + 0.000 + 0.000))
Ay )E 1 |&hEHRE R = WEIE X JBEA X (ETIER + RIIEE + RAEERE + MEER)
(ElZEHmA) 0.095 m3 = 0.325 * 0.050 * (5.850 + 0.000 + 0.000 + 0.000)
Ay )E 1 i = SR g
(Bl ZE9mH) 0.095 m3 = 0.095
Ay )E 1 | FE = A LS
(FEHI) 1.338 m3 = 1.338
Ay )E 2 | = WEHIZE2E LA
(HEHI) 1.055 m3 = 1.055
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T T & 2 %+ B & (8 & % )
BHEEEEBS . 12007200

TiEES | 02 | THESW [AB/HAPES50Q = [ 13 | IL—F&#H [HAPE$ 50275k (Fhil-0.80)

[EE] EHEEEEE A

4 B 1 [lE = (ETHEE + ARVIER + AREE + MEER) + (KRG - W@ mbg) X MFmEI) X ki
2.000 m = ((1.000 + 0.000 + 0.000 + 0.000) + ((0.325 — 0.325) * 0.000)) * 2.000

AL 1 [HE = wlE X (ETHER + AREE + AWER + MEALR)
0.325 m2 = 0.325 * (1.000 + 0.000 + 0.000 + 0.000)

] 1 [ = Wl X B4 X (ETHER + AREE + AER + MALR)
0.035 m3 = 0.325 * 0.110 * (1.000 + 0.000 + 0.000 + 0.000)
] 2 B = (GREIIRE X Ex - B X (ELEE + WELER) + GBEIIE X B4 X (RIFLE + ARLER))

0.178 m3 = ((0.325 % 0.555 — 0.002) * (1.000 + 0.000)) + (0.325 * 0.555 * (0.000 + 0.000))

LR 1 [k = mlE X (ETHEE + RIEE + AREE + HEER)
0.325 m2 = 0.325 * (1.000 + 0.000 + 0.000 + 0.000)

BAZIE IR 1 [BE = wlE X (ETHER + AREE + AWER + MALER)
0.325 m2 = 0.325 * (1.000 + 0.000 + 0.000 + 0.000)

HAZIE 1A 2 [l = mEE X (LTEE + RRERE + RABER + WIER)
0.325 m2 = 0.325 * (1.000 + 0.000 + 0.000 + 0.000)

e 1 [ = BEIE X B X (ELEE + 2FER + ARER + MELER)

0.035 m3 = 0.325 * 0.110 * (1.000 + 0.000 + 0.000 + 0.000)
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+T T &% E ft E & (& B % )
BRETETIEES - 12007200 H#HEE]
| TiEEE [ 02 | TiHESEH [ABHAPEGS50Q - rES | 13 [ I —F&% [HAPE ¢ 50275k (13E-0.80)
JEFE R IEIN il B Al 15l / it B BN
FEHIH D R L 2 |EdE = (ARHNE X JEH - B X BTIER) + (RHIE X JEA X (RIBIEE + ST E + MEER))
0.100 m3 = ((0.325 * 0.315 — 0.002) * 1.000) + (0.325 % 0.315 * (0.000 + 0.000 + 0.000))
Ay )E 1 |&hEHRE R = WEIE X JBEA X (ETIER + RIIEE + RAEERE + MEER)
(ElZEHmA) 0.016 m3 = 0.325 * 0.050 * (1.000 + 0.000 + 0.000 + 0.000)
Ay )E 1 i = SR g
(Bl ZE9mH) 0.016 m3 = 0.016
Ay )E 1 | FE = A LS
(FEHI) 0.035 m3 = 0.035
Ay )E 2 | = WEHIZE2E LA
(HEHI) 0.178 m3 = 0.178
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T T & 2 %+ B & (8 & % )
BHEEEEBS . 12007200

TiEES | 02 | THESW [AB/HAPES50Q = [ 14 | IL—r&# [HAPE$5027E% (Fhil-0.80)

[EE] EHEEEEE A

4 B 1 [lE = (ETHEE + ARVIER + AREE + MEER) + (KRG - W@ mbg) X MFmEI) X ki
6.000 m = ((3.000 + 0.000 + 0.000 + 0.000) + ((0.750 — 0.750) * 0.000)) * 2.000

AL 1 [HE = wlE X (ETHER + AREE + AWER + MEALR)
2.250 m2 = 0.750 * (3.000 + 0.000 + 0.000 + 0.000)

] 1 [ = Wl X B4 X (ETHER + AREE + AER + MALR)
0.247 m3 = 0.750 * 0.110 * (3.000 + 0.000 + 0.000 + 0.000)
] 2 B = (GREIIRE X Ex - B X (ELEE + WELER) + GBEIIE X B4 X (RIFLE + ARLER))

1.580 m3 = ((0.750 * 0.705 — 0.002) * (3.000 + 0.000)) + (0.750 * 0.705 * (0.000 + 0.000))

LR 1 [k = mlE X (ETHEE + RIEE + AREE + HEER)
2.250 m2 = 0.750 * (3.000 + 0.000 + 0.000 + 0.000)

BAZIE IR 1 [BE = wlE X (ETHER + AREE + AWER + MALER)
2.250 m2 = 0.750 * (3.000 + 0.000 + 0.000 + 0.000)

HAZIE 1A 2 [l = mEE X (LTEE + RRERE + RABER + WIER)
2.250 m2 = 0.750 * (3.000 + 0.000 + 0.000 + 0.000)

e 1 [ = BEIE X B X (ELEE + 2FER + ARER + MELER)

0.247 m3 = 0.750 * 0.110 * (3.000 + 0.000 + 0.000 + 0.000)
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+T T &% E ft E & (& B % )
BRETETIEES - 12007200 H#HEE]
| TiEEE [ 02 | TiHESEH [ABHAPEGS50Q - rES [ 14 | JL—r&% [H2PE$ 5027 (il -0.80)
JEFE R IEIN il B Al 15l / it B BN
FEHIH D R L 2 |EdE = (ARHNE X JEH - B X BTIER) + (RHIE X JEA X (RIBIEE + ST E + MEER))
1.040 m3 = ((0.750 % 0.465 — 0.002) * 3.000) + (0.750 % 0.465 % (0.000 + 0.000 + 0.000))
FE A5y 1 |&hEHRE R = WEIE X JBEA X (ETIER + RIIEE + RAEERE + MEER)
(ElZEHmA) 0.112 m3 = 0.750 * 0.050 * (3.000 + 0.000 + 0.000 + 0.000)
Ay )E 1 i = SR g
(GHAEHRH]) 0.112 m3 = 0. 112
Ay )E 1 | FE = A LS
(FEHI) 0.247 m3 = 0. 247
Ay )E 2 &&= WHIE2E L&
(HEHI) 1.580 m3 = 1.580
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T T & 2 %+ B & (8 & % )
BHEEEEBS . 12007200

TiEES | 04 | THEEW [AB/AAPES50B) = [ 11 | IWL—F&# [HAPE$50881% (Fil-1.00)

[EE] EHEEEEE A

4 B 1 [lE = (ETHEE + ARVIER + AREE + MEER) + (KRG - W@ mbg) X MFmEI) X ki
6.000 m = ((3.000 + 0.000 + 0.000 + 0.000) + ((0.750 — 0.750) * 0.000)) * 2.000

AL 1 [HE = wlE X (ETHER + AREE + AWER + MEALR)
2.250 m2 = 0.750 * (3.000 + 0.000 + 0.000 + 0.000)

] 1 [ = Wl X B4 X (ETHER + AREE + AER + MALR)
1.147 m3 = 0.750 * 0.510 * (3.000 + 0.000 + 0.000 + 0.000)
] 2 B = (GREIIRE X Ex - B X (ELEE + WELER) + GBEIIE X B4 X (RIFLE + ARLER))

1.580 m3 = ((0.750 * 0.705 — 0.002) * (3.000 + 0.000)) + (0.750 * 0.705 * (0.000 + 0.000))

LR 1 [k = mlE X (ETHEE + RIEE + AREE + HEER)
2.250 m2 = 0.750 * (3.000 + 0.000 + 0.000 + 0.000)

BAZIE IR 1 [BE = wlE X (ETHER + AREE + AWER + MALER)
2.250 m2 = 0.750 * (3.000 + 0.000 + 0.000 + 0.000)

HAZIE 1A 2 [l = mEE X (LTEE + RRERE + RABER + WIER)
2.250 m2 = 0.750 * (3.000 + 0.000 + 0.000 + 0.000)

e 1 [ = BEIE X B X (ELEE + 2FER + ARER + MELER)

1.147 m3 = 0.750 * 0.510 * (3.000 + 0.000 + 0.000 + 0.000)
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+T T &% E ft E & (& B % )
BRETETIEES - 12007200 H#HEE]
| TiEEE [ 04 | THEEH [AFHAPEG50Q - rES [ 11 | JL—r&% [H2PEp50340% (i -1.00)
JEFE R IEIN il B Al 15l / it B BN
FEHIH D R L 2 |EdE = (ARHNE X JEH - B X BTIER) + (RHIE X JEA X (RIBIEE + ST E + MEER))
1.040 m3 = ((0.750 * 0.465 — 0.002) * 3.000) + (0.750 * 0.465 * (0.000 + 0.000 + 0.000))
FE A5y 1 |&hEHRE R = WEIE X JBEA X (ETIER + RIIEE + RAEERE + MEER)
(ElZEHmA) 0.112 m3 = 0.750 * 0.050 * (3.000 + 0.000 + 0.000 + 0.000)
Ay )E 1 i = SR g
(GHAEHRH]) 0.112 m3 = 0. 112
Ay )E 1 | FE = A LS
(FEHI) 1.147 m3 = 1.147
Ay )E 2 | = WEHIZE2E LA
(HEHI) 1.580 m3 = 1.580
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T T & 2 %+ B & (8 & % )
BHEEEEBS . 12007200

TiEES | 04 | THEEW [AB/AAPES50B) = [ 12 | WL—r&# [HAPE$ 5087 (i -1.20)

[EE] EHEEEEE A

4 B 1 [lE = (ETHEE + ARVIER + AREE + MEER) + (KRG - W@ mbg) X MFmEI) X ki
7.076 m = ((3.538 + 0.000 + 0.000 + 0.000) + ((0.325 — 0.325) * 0.000)) * 2.000

AL 1 [HE = wlE X (ETHER + AREE + AWER + MEALR)
1.149 m2 = 0.325 * (3.538 + 0.000 + 0.000 + 0.000)

] 1 [ = Wl X B4 X (ETHER + AREE + AER + MALR)
0.816 m3 = 0.325 * 0.710 * (3.538 + 0.000 + 0.000 + 0.000)
] 2 B = (GREIIRE X Ex - B X (ELEE + WELER) + GBEIIE X B4 X (RIFLE + ARLER))

0.631 m3 = ((0.325 % 0.555 — 0.002) * (3.538 + 0.000)) + (0.325 * 0.555 * (0.000 + 0.000))

LR 1 [k = mlE X (ETHEE + RIEE + AREE + HEER)
1.149 m2 = 0.325 * (3.538 + 0.000 + 0.000 + 0.000)

BAZIE IR 1 [BE = wlE X (ETHER + AREE + AWER + MALER)
1.149 m2 = 0.325 * (3.538 + 0.000 + 0.000 + 0.000)

HAZIE 1A 2 [l = mEE X (LTEE + RRERE + RABER + WIER)
1.149 m2 = 0.325 * (3.538 + 0.000 + 0.000 + 0.000)

e 1 [ = BEIE X B X (ELEE + 2FER + ARER + MELER)

0.816 m3 = 0.325 * 0.710 * (3.538 + 0.000 + 0.000 + 0.000)
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+T T &% E ft E & (& B % )
BRETETIEES - 12007200 H#HEE]
| TiEEE [ 04 | THEEH [AFHAPEG50Q - rES | 12 [ —r&%  [HAPE ¢ 50@%ag (13- 1.20)
JEFE R IEIN il B Al 15l / it B BN
FEHIH D R L 2 |EdE = (ARHNE X JEH - B X BTIER) + (RHIE X JEA X (RIBIEE + ST E + MEER))
0.355 m3 = ((0.325 * 0.315 — 0.002) * 3.538) + (0.325 % 0.315 * (0.000 + 0.000 + 0.000))
Ay )E 1 |&hEHRE R = WEIE X JBEA X (ETIER + RIIEE + RAEERE + MEER)
(ElZEHmA) 0.057 m3 = 0.325 * 0.050 * (3.538 + 0.000 + 0.000 + 0.000)
Ay )E 1 i = SR g
(Bl ZE9mH) 0.057 m3 = 0.057
Ay )E 1 | FE = A LS
(FEHI) 0.816 m3 = 0.816
Ay )E 2 | = WEHIZE2E LA
(HEHI) 0.631 m3 = 0.631
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T T & 2 %+ B & (8 & % )
BHEEEEBS . 12007200

TiEES | 04 | THEEW [AB/AAPES50B) = [ 13 | IL—r&# [HAPE 5007k (Fhil-0.80)

[EE] EHEEEEE A

4 B 1 [lE = (ETHEE + ARVIER + AREE + MEER) + (KRG - W@ mbg) X MFmEI) X ki
2.000 m = ((1.000 + 0.000 + 0.000 + 0.000) + ((0.325 — 0.325) * 0.000)) * 2.000

AL 1 [HE = wlE X (ETHER + AREE + AWER + MEALR)
0.325 m2 = 0.325 * (1.000 + 0.000 + 0.000 + 0.000)

] 1 [ = Wl X B4 X (ETHER + AREE + AER + MALR)
0.100 m3 = 0.325 * 0.310 * (1.000 + 0.000 + 0.000 + 0.000)
] 2 B = (GREIIRE X Ex - B X (ELEE + WELER) + GBEIIE X B4 X (RIFLE + ARLER))

0.178 m3 = ((0.325 % 0.555 — 0.002) * (1.000 + 0.000)) + (0.325 * 0.555 * (0.000 + 0.000))

LR 1 [k = mlE X (ETHEE + RIEE + AREE + HEER)
0.325 m2 = 0.325 * (1.000 + 0.000 + 0.000 + 0.000)

BAZIE IR 1 [BE = wlE X (ETHER + AREE + AWER + MALER)
0.325 m2 = 0.325 * (1.000 + 0.000 + 0.000 + 0.000)

HAZIE 1A 2 [l = mEE X (LTEE + RRERE + RABER + WIER)
0.325 m2 = 0.325 * (1.000 + 0.000 + 0.000 + 0.000)

e 1 [ = BEIE X B X (ELEE + 2FER + ARER + MELER)

0.100 m3 = 0.325 * 0.310 * (1.000 + 0.000 + 0.000 + 0.000)
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+T T &% E ft E & (& B % )
BRETETIEES - 12007200 H#HEE]
| TiEEE [ 04 | THEEH [AFHAPEG50Q - rES | 13 [ I —r&% [HAPE$50@7%5% (13E-0.80)
JEFE R IEIN il B Al 15l / it B BN
FEHIH D R L 2 |EdE = (ARHNE X JEH - B X BTIER) + (RHIE X JEA X (RIBIEE + ST E + MEER))
0.100 m3 = ((0.325 * 0.315 — 0.002) * 1.000) + (0.325 % 0.315 * (0.000 + 0.000 + 0.000))
Ay )E 1 |&hEHRE R = WEIE X JBEA X (ETIER + RIIEE + RAEERE + MEER)
(ElZEHmA) 0.016 m3 = 0.325 * 0.050 * (1.000 + 0.000 + 0.000 + 0.000)
Ay )E 1 i = SR g
(Bl ZE9mH) 0.016 m3 = 0.016
Ay )E 1 | FE = A LS
(FEHI) 0.100 m3 = 0. 100
Ay )E 2 | = WEHIZE2E LA
(HEHI) 0.178 m3 = 0.178
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T T & 2 %+ B & (8 & % )
BHEEEEBS . 12007200

TiEES | 04 | THEEW [AB/AAPES50B) = [ 14 | IL—r&# [HAPE$ 5087k (§1%-0.80)

[EE] EHEEEEE A

4 B 1 [lE = (ETHEE + ARVIER + AREE + MEER) + (KRG - W@ mbg) X MFmEI) X ki
6.000 m = ((3.000 + 0.000 + 0.000 + 0.000) + ((0.750 — 0.750) * 0.000)) * 2.000

AL 1 [HE = wlE X (ETHER + AREE + AWER + MEALR)
2.250 m2 = 0.750 * (3.000 + 0.000 + 0.000 + 0.000)

] 1 [ = Wl X B4 X (ETHER + AREE + AER + MALR)
0.697 m3 = 0.750 * 0.310 * (3.000 + 0.000 + 0.000 + 0.000)
] 2 B = (GREIIRE X Ex - B X (ELEE + WELER) + GBEIIE X B4 X (RIFLE + ARLER))

1.580 m3 = ((0.750 * 0.705 — 0.002) * (3.000 + 0.000)) + (0.750 * 0.705 * (0.000 + 0.000))

LR 1 [k = mlE X (ETHEE + RIEE + AREE + HEER)
2.250 m2 = 0.750 * (3.000 + 0.000 + 0.000 + 0.000)

BAZIE IR 1 [BE = wlE X (ETHER + AREE + AWER + MALER)
2.250 m2 = 0.750 * (3.000 + 0.000 + 0.000 + 0.000)

HAZIE 1A 2 [l = mEE X (LTEE + RRERE + RABER + WIER)
2.250 m2 = 0.750 * (3.000 + 0.000 + 0.000 + 0.000)

e 1 [ = BEIE X B X (ELEE + 2FER + ARER + MELER)

0.697 m3 = 0.750 * 0.310 * (3.000 + 0.000 + 0.000 + 0.000)
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+T T &% E ft E & (& B % )
BRETETIEES - 12007200 H#HEE]
| TiEEE [ 04 | THEEH [AFHAPEG50Q - rES [ 14 | JL—r&% [H2PE 50375k (515 -0.80)
JEFE R IEIN il B Al 15l / it B BN
FEHIH D R L 2 |EdE = (ARHNE X JEH - B X BTIER) + (RHIE X JEA X (RIBIEE + ST E + MEER))
1.040 m3 = ((0.750 * 0.465 — 0.002) * 3.000) + (0.750 * 0.465 * (0.000 + 0.000 + 0.000))
FE A5y 1 |&hEHRE R = WEIE X JBEA X (ETIER + RIIEE + RAEERE + MEER)
(ElZEHmA) 0.112 m3 = 0.750 * 0.050 * (3.000 + 0.000 + 0.000 + 0.000)
Ay )E 1 i = SR g
(GHAEHRH]) 0.112 m3 = 0. 112
Ay )E 1 | FE = A LS
(FEHI) 0.697 m3 = 0.697
Ay )E 2 | = WEHIZE2E LA
(HEHI) 1.580 m3 = 1.580
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T T & 2 %+ B & (8 & % )
BHEEEEBS . 12007200

TEES | 11 | TEEW |KBKEHPPE®TS = | o1 | JL—F&F [/KEHPPE ¢ 758)% (125&-1.30)

[EE] EHEEEEE A

4 B 1 [lE = (ETHEE + ARVIER + AREE + MEER) + (KRG - W@ mbg) X MFmEI) X ki
4.000 m = ((2.000 + 0.000 + 0.000 + 0.000) + ((1.500 — 1.500) * 1.000)) * 2.000

AL 1 [HE = wlE X (ETHER + AREE + AWER + MEALR)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)

] 1 [ = Wl X B4 X (ETHER + AREE + AER + MALR)
2.430 m3 = 1.500 * 0.810 * (2.000 + 0.000 + 0.000 + 0.000)
] 2 B = (GREIIRE X Ex - B X (ELEE + WELER) + GBEIIE X B4 X (RIFLE + ARLER))

2.178 m3 = ((1.500 * 0.730 — 0.006) * (2.000 + 0.000)) + (1.500 * 0.730 * (0.000 + 0.000))

LR 1 [k = mlE X (ETHEE + RIEE + AREE + HEER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)

BAZIE IR 1 [BE = wlE X (ETHER + AREE + AWER + MALER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)

HAZIE 1A 2 [l = mEE X (LTEE + RRERE + RABER + WIER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)

e 1 [ = BEIE X B X (ELEE + 2FER + ARER + MELER)

2.430 m3 = 1.500 * 0.810 * (2.000 + 0.000 + 0.000 + 0.000)
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+T T &% E ft E & (& B % )
BRETETIEES - 12007200 H#HEE]
| TrE®&8 [ 11 | TiE&W  |FHBKEHPPE®TS - rES | ot | —he#  |/KEHPPE ¢ 7541% (B5&-1.30)
JEFE R IEIN il B Al 15l / it B BN
FEHIH D R L 2 |EdE = (ARHNE X JEH - B X BTIER) + (RHIE X JEA X (RIBIEE + ST E + MEER))
1.458 m3 = ((1.500 % 0.490 - 0.006) * 2.000) + (1.500 * 0.490 * (0.000 + 0.000 + 0.000))
Ay )E 1 |&hEHRE R = WEIE X JBEA X (ETIER + RIIEE + RAEERE + MEER)
(ElZEHmA) 0.150 m3 = 1.500 * 0.050 * (2.000 + 0.000 + 0.000 + 0.000)
Ay )E 1 i = SR g
(Bl ZE9mH) 0.150 m3 = 0. 150
Ay )E 1 | FE = A LS
(FEHI) 2.430 m3 = 2.430
Ay )E 2 | = WEHIZE2E LA
(HEHI) 2.178 m3 = 2.178
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T I % E H E & (8 &8 % )
BRETEEEES . 12007200
IEES | 11 | TIEE#M  |KBKEHPPE®GTS - &S | 02 | J—+&#  [KiEHPPE ¢ 75%5% (1B5&-1.50)
JEFEp & |t 3 JL 151 / it 3 =
BRI 1 [ = (ETHEE + 2VEE + AEE + WEER) + (GETEEIE - %amiiiE) < #FmEin) x ok
6.720 m = ((3.360 + 0.000 + 0.000 + 0.000) + ((0.900 - 0.900) * 0.000)) * 2.000
LR 1 [ = IR X (ETHER + RIGEE + AIBEE + MEER)
3.024 m2 = 0.900 * (3.360 + 0.000 + 0.000 + 0.000)
) 1 [k = (AEHINE X B4 - FEhD) X (TR + WEUER)) + GREIE X 55 X (RIBIER + AHIER))
3.034 m3 = ((0.900 * 1.010 — 0.006) * (3.360 + 0.000)) + (0.900 * 1.010 * (0.000 + 0.000))
) 2 [ = WEE X Eh X (ETIER + /EE + AWIEE + MEER)
1.753 m3 = 0.900 * 0.580 * (3.360 + 0.000 + 0.000 + 0.000)
LA IR 1 [ = WAE X (ETEE + RIRIEE + URIEE + WEER)
3.024 m2 = 0.900 * (3.360 + 0.000 + 0.000 + 0.000)
A1 I 1 [ = IR X (ETHER + RIGEE + AIBEE + MEER)
3.024 m2 = 0.900 * (3.360 + 0.000 + 0.000 + 0.000)
A1 I 2 [ = EE X (ETEE + /MWLE + RALE + HELE)
3.024 m2 = 0.900 * (3.360 + 0.000 + 0.000 + 0.000)
T 1 [B%E = \EE X 54 X (ETHERE + RIEERE + ARER + MEER)
3.054 m3 = 0.900 * 1.010 * (3.360 + 0.000 + 0.000 + 0.000)
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+T T &% E ft E & (& B % )
BRETETIEES - 12007200 H#HEE]
| TrE®&8 [ 11 | TiE&W  |FHBKEHPPE®TS - rES | 02 | —h&#  |/KEHPPE ¢ 75715k (B 5&-1.50)
JEFE R IEIN il B Al 15l / it B BN
FEHIH D R L 2 |EdE = (ARHNE X JEH - B X BTIER) + (RHIE X JEA X (RIBIEE + ST E + MEER))
1.008 m3 = ((0.900 * 0.340 — 0.006) * 3.360) + (0.900 * 0.340 * (0.000 + 0.000 + 0.000))
Ay )E 1 |&hEHRE R = WEIE X JBEA X (ETIER + RIIEE + RAEERE + MEER)
(ElZEHmA) 0.151 m3 = 0.900 * 0.050 * (3.360 + 0.000 + 0.000 + 0.000)
Ay )E 1 i = SR g
(GHAEHRH]) 0.151 m3 = 0. 151
Ay )E 1 | FE = A LS
(FEHI) 3.034 m3 = 3.034
Ay )E 2 | = WEHIZE2E LA
(HEHI) 1.753 m3 = 1.753
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T T % E 8 E E (fF B % )
BRETEEEES . 12007200
IEES | 1 | IB@E#W  |XKBKEHPPESTS - rES | 03 | —h&#  |/KEHPPE ¢ 75775k (f15&-0.80)
JEFE R IEIN il B JL Hl / it B BN
LT 1 [ = (BTER + RIEVIEE + RUMEE + BOUEE) + (GERREE - % @miie) X #FmEpk) X ok
2.000 m = ((1.000 + 0.000 + 0.000 + 0.000) + ((0.600 — 0.600) * 0.000)) * 2.000
EES 1 [ = WEE X (ETER + RRERE + RAIRLEE + MELE)
0.600 m2 = 0.600 * (1.000 + 0.000 + 0.000 + 0.000)
] 1 [ = AR X 845 X (E TR + RBER + IR + MEEE)
0.186 m3 = 0.600 * 0.310 * (1.000 + 0.000 + 0.000 + 0.000)
] o [BkR = (GRBIE X B4 - FEA) X (ETIER + MEER)) + GRAE X 2 X (RIREE + ARER))
0.342 m3 = ((0.600 * 0.580 — 0.006) * (1.000 + 0.000)) + (0.600 * 0.580 * (0.000 + 0.000))
EETAlE 1 [ = mE X (ETER + MEE + RilEE + MEER)
0.600 m2 = 0.600 * (1.000 + 0.000 + 0.000 + 0.000)
A I 1 [ = WEIE X (ETEE + RRERE + RIRLE + MELERE)
0.600 m2 = 0.600 * (1.000 + 0.000 + 0.000 + 0.000)
B IH 2 [t = miliE X (FTHEE « RIER + RIEE + MEEE)
0.600 m2 = 0.600 * (1.000 + 0.000 + 0.000 + 0.000)
HHFLD R L 1 [BE = WEE X Eh X (ETIHER + RAER + AR + MEER)
0.186 m3 = 0.600 * 0.310 * (1.000 + 0.000 + 0.000 + 0.000)
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+T T &% E ft E & (& B % )
BRETETIEES - 12007200 H#HEE]
| T@s&s | 11 | TI#@&# |KBKEHPPE®GTS [L—+&E | 03 | J—+4&#  [KiEHPPE ¢ 75%5% (7758 -0.80)
JEFE R IEIN il B Al 15l / it B BN
FEHIH D R L 2 |EdE = (ARHNE X JEH - B X BTIER) + (RHIE X JEA X (RIBIEE + ST E + MEER))
0.198 m3 = ((0.600 * 0.340 — 0.006) * 1.000) + (0.600 * 0.340 * (0.000 + 0.000 + 0.000))
Ay )E 1 |&hEHRE R = WEIE X JBEA X (ETIER + RIIEE + RAEERE + MEER)
(ElZEHmA) 0.030 m3 = 0.600 * 0.050 * (1.000 + 0.000 + 0.000 + 0.000)
Ay )E 1 i = SR g
(Bl ZE9mH) 0.030 m3 = 0.030
Ay )E 1 | FE = A LS
(FEHI) 0.186 m3 = 0. 186
Ay )E 2 | = WEHIZE2E LA
(HEHI) 0.342 m3 = 0.342
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T T % E 8 E E (fF B % )
BRETEEEES . 12007200
IEES | 1 | IB@E#W  |XKBKEHPPESTS - rES | 04 | —he¥  |/KEHPPE ¢ 75%15k (f15&-0.80)
JEFE R IEIN il B JL Hl / it B BN
LT 1 [ = (BTER + RIEVIEE + RUMEE + BOUEE) + (GERREE - % @miie) X #FmEpk) X ok
4.000 m = ((2.000 + 0.000 + 0.000 + 0.000) + ((1.500 — 1.500) * 0.000)) * 2.000
EES 1 [ = WEE X (ETER + RRERE + RAIRLEE + MELE)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
] 1 [ = AR X 845 X (E TR + RBER + IR + MEEE)
0.930 m3 = 1.500 * 0.310 * (2.000 + 0.000 + 0.000 + 0.000)
] o [BkR = (GRBIE X B4 - FEA) X (ETIER + MEER)) + GRAE X 2 X (RIREE + ARER))
2.178 m3 = ((1.500 * 0.730 — 0.006) * (2.000 + 0.000)) + (1.500 * 0.730 * (0.000 + 0.000))
EETAlE 1 [ = mE X (ETER + MEE + RilEE + MEER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
A I 1 [ = WEIE X (ETEE + RRERE + RIRLE + MELERE)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
B IH 2 [t = miliE X (FTHEE « RIER + RIEE + MEEE)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
HHFLD R L 1 [BE = WEE X Eh X (ETIHER + RAER + AR + MEER)
0.930 m3 = 1.500 * 0.310 * (2.000 + 0.000 + 0.000 + 0.000)
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+T T &% E ft E & (& B % )
BRETETIEES - 12007200 H#HEE]
| TrE®&8 [ 11 | TiE&W  |FHBKEHPPE®TS - rES | 04 | —he¥  |/KEHPPE ¢ 75%15k (f15&-0.80)
JEFE R IEIN il B Al 15l / it B BN
FEHIH D R L 2 |EdE = (ARHNE X JEH - B X BTIER) + (RHIE X JEA X (RIBIEE + ST E + MEER))
1.458 m3 = ((1.500 % 0.490 - 0.006) * 2.000) + (1.500 * 0.490 * (0.000 + 0.000 + 0.000))
Ay )E 1 |&hEHRE R = WEIE X JBEA X (ETIER + RIIEE + RAEERE + MEER)
(ElZEHmA) 0.150 m3 = 1.500 * 0.050 * (2.000 + 0.000 + 0.000 + 0.000)
Ay )E 1 i = SR g
(Bl ZE9mH) 0.150 m3 = 0. 150
Ay )E 1 | FE = A LS
(FEHI) 0.930 m3 = 0.930
Ay )E 2 | = WEHIZE2E LA
(HEHI) 2.178 m3 = 2.178
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T I #

belm

BRETEEEES 12007200

B OE (R HE R

TiEES | 13 | THESW [ABKEHPPE 50D V—F2&F  [/KEHPPE ¢ 50 D) (R3E-1.20)
[EE] EHEEEEE A
4 B 1 [lE = (ETHEE + ARVIER + AREE + MEER) + (KRG - W@ mbg) X MFmEI) X ki
4,000 m = ((2.000 + 0.000 + 0.000 + 0.000) + ((0.750 — 0.750) * 0.000)) * 2.000
AL 1 [HE = wlE X (ETHER + AREE + AWER + MEALR)
1.500 m2 = 0. 750 * (2.000 + 0.000 + 0.000 + 0.000)
] 1 [ = Wl X B4 X (ETHER + AREE + AER + MALR)
0.450 m3 = 0.750 * 0.300 * (2.000 + 0.000 + 0.000 + 0.000)
] 2 B = (GREIIRE X Ex - B X (ELEE + WELER) + GBEIIE X B4 X (RIFLE + ARLER))
1.516 m3 = ((0.750 * 1.015 — 0.003) * (2.000 + 0.000)) + (0.750 * 1.015 * (0.000 + 0.000))
LR 1 [k = mlE X (ETHEE + RIEE + AREE + HEER)
1.500 m2 = 0.750 * (2.000 + 0.000 + 0.000 + 0.000)
M IR 9 [BE = WEE < (LTEE + AHIER + AREE + MELER)
1.500 m2 = 0. 750 * (2.000 + 0.000 + 0.000 + 0.000)
AL 1R 3 [ = WHIE X (TR « /BER + AHIEE + WEEE)
1.500 m2 = 0.750 * (2.000 + 0.000 + 0.000 + 0.000)
BAZIE IR 1 [BE = wlE X (ETHER + AREE + AWIER + MALER)
1.500 m2 = 0. 750 * (2.000 + 0.000 + 0.000 + 0.000)
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T I % E H E & (8 &8 % )
BRETETEES : 12007200 H#)%ETE]
IEES | 13 | IE&#M  [ABRKEHPPEA 50D - &S [ 11 | JL—r&% [KiEHPPE ¢ 5041 (BiE-1.20)
JEFEp & |t 3 L 151 / it 3 =
AT IH 2 |HEE = AR X (EIER + RIEER + URER + MEER)
1.500 m2 = 0.750 * (2.000 + 0.000 + 0.000 + 0.000)
PEHIHE O B L 1 |[Z&E = WHE X BEA X (ETIERE + RIIEE + RIIERE + MEIER)
0.450 m3 = 0.750 * 0.300 * (2.000 + 0.000 + 0.000 + 0.000)
PEHIHE O R L 2 FHE = (REIE X B - EFmfE) X LTHER) + (RAE X BEA X (RIIEE + RIIEE + MEIER))
0.691 m3 = ((0.750 * 0.465 — 0.003) * 2.000) + (0.750 * 0.465 * (0.000 + 0.000 + 0.000))
B AL 1 |FEREEE = WEE X BEAi X (ETIERE + RIEE + RIEE + MEIER)
(Bl EEHEHI) 0.225 m3 = 0.750 * 0.150 * (2.000 + 0.000 + 0.000 + 0.000)
o Uy ] 1 [FE = iERAEUE L=
(Bl EHEH) 0.225 m3 = 0.225
5% AL 1 |%E = wHEELE
(HEH!) 0.450 m3 = 0. 450
B ALy JE 2 |%E = EHISRE R
(HEH) 1.516 m3 = 1.516
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T T % E 8 E E (fF B % )
BEEEEES . 12007200
IEES | 13 | IE&#M  [ABRKEHPPEA 50D - rES [ 12 | JL—r&%  [KiEHPPE ¢ 5007 5% (i - 1.20)
Ji& Fi | FH A
LT 1 [ = (BTER + RIEVIEE + RUMEE + BOUEE) + (GERREE - % @miie) X #FmEpk) X ok
12.000 m = ((6.000 + 0.000 + 0.000 + 0.000) + ((0.325 — 0.325) * 0.000)) * 2.000
EES 1 [ = WEE X (ETER + RRERE + RAIRLEE + MELE)
1.950 m2 = 0.325 * (6.000 + 0.000 + 0.000 + 0.000)
] 1 [ = (ORI X B2 - Bl X (ETEE + MEHEE)) + GREIE X 84 X (RIBEE + SURIER))
1.366 m3 = ((0.325 * 0.710 — 0.003) * (6.000 + 0.000)) + (0.325 * 0.710 * (0.000 + 0.000))
] 2[R = fElE X BA X (LTER + ARIEE + AER + MEER)
1.082 m3 = 0.325 * 0.555 * (6.000 + 0.000 + 0.000 + 0.000)
EETAlE 1 [ = mE X (ETER + MEE + RilEE + MEER)
1.950 m2 = 0.325 * (6.000 + 0.000 + 0.000 + 0.000)
A I 1 [ = WEIE X (ETEE + RRERE + RIRLE + MELERE)
1.950 m2 = 0.325 * (6.000 + 0.000 + 0.000 + 0.000)
B IH 2 [t = miliE X (FTHEE « RIER + RIEE + MEEE)

1.950 m2 = 0.325 * (6.000 + 0.000 + 0.000 + 0.000)

EHITED R L

K = IRHNE X BEA X (ETER + RBER + 3URIER + fEER)

1.384 m3 = 0.325 * 0.710 * (6.000 + 0.000 + 0.000 + 0.000)
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+T T &% E ft E & (& B % )
BRETETIEES - 12007200 H#HEE]
| TrE®&E [ 13 | TiE&W  |AHKEHPPE$50D [\-r&S | 12 [ W—t&%  [/KEHPPE ¢ 50D7E% (138~ 1.20)
JEFE R IEIN il B Al 15l / it B BN
FEHIH D R L 2 |EdE = (ARHNE X JEH - B X BTIER) + (RHIE X JEA X (RIBIEE + ST E + MEER))
0.596 m3 = ((0.325 * 0.315 — 0.003) * 6.000) + (0.325 % 0.315 * (0.000 + 0.000 + 0.000))
Ay )E 1 |&hEHRE R = WEIE X JBEA X (ETIER + RIIEE + RAEERE + MEER)
(ElZEHmA) 0.097 m3 = 0.325 * 0.050 * (6.000 + 0.000 + 0.000 + 0.000)
Ay )E 1 i = SR g
(Bl ZE9mH) 0.097 m3 = 0.097
Ay )E 1 | FE = A LS
(FEHI) 1.366 m3 = 1.366
Ay )E 2 | = WEHIZE2E LA
(HEHI) 1.082 m3 = 1.082
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T T % E 8 E E (fF B % )
BEEEEES . 12007200
IEES | 13 | IE&#M  [ABRKEHPPEA 50D - rES [ 13 | JL—r&% [/KiEHPPE ¢ 5007 % (i - 0.60)
Ji& Fi | FH A
LT 1 [ = (BTER + RIEVIEE + RUMEE + BOUEE) + (GERREE - % @miie) X #FmEpk) X ok
3.520 m = ((1.760 + 0.000 + 0.000 + 0.000) + ((0.325 — 0.325) * 0.000)) * 2.000
EES 1 [ = WEE X (ETER + RRERE + RAIRLEE + MELE)
0.572 m2 = 0.325 * (1.760 + 0.000 + 0.000 + 0.000)
] 1 [ = AR X 845 X (E TR + RBER + IR + MEEE)
0.062 m3 = 0.325 * 0.110 * (1.760 + 0.000 + 0.000 + 0.000)
] o [BkR = (GRBIE X B4 - FEA) X (ETIER + MEER)) + GRAE X 2 X (RIREE + ARER))
0.312 m3 = ((0.325 % 0.555 — 0.003) * (1.760 + 0.000)) + (0.325 * 0.555 * (0.000 + 0.000))
EETAlE 1 [ = mE X (ETER + MEE + RilEE + MEER)
0.572 m2 = 0.325 * (1.760 + 0.000 + 0.000 + 0.000)
A I 1 [ = WEIE X (ETEE + RRERE + RIRLE + MELERE)
0.572 m2 = 0.325 * (1.760 + 0.000 + 0.000 + 0.000)
B IH 2 [t = miliE X (FTHEE « RIER + RIEE + MEEE)
0.572 m2 = 0.325 * (1.760 + 0.000 + 0.000 + 0.000)
HHFLD R L 1 [BE = WEE X Eh X (ETIHER + RAER + AR + MEER)

0.062 m3 = 0.325 * 0.110 * (1.760 + 0.000 + 0.000 + 0.000)
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+T T &% E ft E & (& B % )
BRETETIEES - 12007200 H#HEE]
| TrE®&E [ 13 | TiE&W  |AHKEHPPE$50D - rES | 13 [ W—r&% [/KEHPPE ¢ 50D7E% (73E-0.60)
JEFE R IEIN il B Al 15l / it B BN
FEHIH D R L 2 |EdE = (ARHNE X JEH - B X BTIER) + (RHIE X JEA X (RIBIEE + ST E + MEER))
0.174 m3 = ((0.325 * 0.315 — 0.003) * 1.760) + (0.325 % 0.315 * (0.000 + 0.000 + 0.000))
Ay )E 1 |&hEHRE R = WEIE X JBEA X (ETIER + RIIEE + RAEERE + MEER)
(ElZEHmA) 0.028 m3 = 0.325 * 0.050 * (1.760 + 0.000 + 0.000 + 0.000)
Ay )E 1 i = SR g
(Bl ZE9mH) 0.028 m3 = 0.028
Ay )E 1 | FE = A LS
(FEHI) 0.062 m3 = 0. 062
Ay )E 2 | = WEHIZE2E LA
(HEHI) 0.312 m3 = 0.312
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T T & 2 %+ B & (8 & % )
BHEEEEBS . 12007200
TiEES | 13 | THESW [ABKEHPPE 50D = [ 14 | W—r&# [/KEHPPE ¢ 50 D)% (38 -0.60)
[EE] EHEEEEE A
4 B 1 [lE = (ETHEE + ARVIER + AREE + MEER) + (KRG - W@ mbg) X MFmEI) X ki
4,000 m = ((2.000 + 0.000 + 0.000 + 0.000) + ((0.750 — 0.750) * 0.000)) * 2.000
AL 1 [HE = wlE X (ETHER + AREE + AWER + MEALR)
1.500 m2 = 0. 750 * (2.000 + 0.000 + 0.000 + 0.000)
] 1 [ = Wl X B4 X (ETHER + AREE + AER + MALR)
0.165 m3 = 0.750 * 0.110 * (2.000 + 0.000 + 0.000 + 0.000)
] 2 B = (GREIIRE X Ex - B X (ELEE + WELER) + GBEIIE X B4 X (RIFLE + ARLER))
1.051 m3 = ((0.750 * 0.705 — 0.003) * (2.000 + 0.000)) + (0.750 * 0.705 * (0.000 + 0.000))
LR 1 [k = mlE X (ETHEE + RIEE + AREE + HEER)
1.500 m2 = 0.750 * (2.000 + 0.000 + 0.000 + 0.000)
BAZIE IR 1 [BE = wlE X (ETHER + AREE + AWER + MALER)
1.500 m2 = 0. 750 * (2.000 + 0.000 + 0.000 + 0.000)
HAZIE 1A 2 [l = mEE X (LTEE + RRERE + RABER + WIER)

1.500 m2 = 0.750 * (2.000 + 0.000 + 0.000 + 0.000)

EHITED R L

K = IRHNE X BEA X (ETER + RBER + 3URIER + fEER)

0.165 m3 = 0.750 * 0.110 * (2.000 + 0.000 + 0.000 + 0.000)
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+T T &% E ft E & (& B % )
BRETETIEES - 12007200 H#HEE]
| T@®&s | 13 | I#E&# |KBKEHPPE$50D [L—+&E [ 14 | JL—r&%  [KiEHPPE ¢ 500D4)% (i -0.60)
JEFE R IEIN il B Al 15l / it B BN
FEHIH D R L 2 |EdE = (ARHNE X JEH - B X BTIER) + (RHIE X JEA X (RIBIEE + ST E + MEER))
0.691 m3 = ((0.750 * 0.465 — 0.003) * 2.000) + (0.750 * 0.465 * (0.000 + 0.000 + 0.000))
Ay )E 1 |&hEHRE R = WEIE X JBEA X (ETIER + RIIEE + RAEERE + MEER)
(ElZEHmA) 0.075 m3 = 0.750 * 0.050 * (2.000 + 0.000 + 0.000 + 0.000)
Ay )E 1 i = SR g
(Bl ZE9mH) 0.075 m3 = 0.075
Ay )E 1 | FE = A LS
(FEHI) 0.165 m3 = 0. 165
Ay )E 2 | = WEHIZE2E LA
(HEHI) 1.051 m3 = 1.051
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T T % E 8 E E (fF B % )
BEEEEES . 12007200
IEES | 15 | IE&#M  |ABKEHPPEA50Q - rES [ 11 | J—r&% [KiEHPPE ¢ 50241% (i - 1.00)
Ji& Fi | FH A
LT 1 [ = (BTER + RIEVIEE + RUMEE + BOUEE) + (GERREE - % @miie) X #FmEpk) X ok
4.000 m = ((2.000 + 0.000 + 0.000 + 0.000) + ((0.750 — 0.750) * 0.000)) * 2.000
EES 1 [ = WEE X (ETER + RRERE + RAIRLEE + MELE)
1.500 m2 = 0.750 * (2.000 + 0.000 + 0.000 + 0.000)
] 1 [ = AR X 845 X (E TR + RBER + IR + MEEE)
0.765 m3 = 0.750 * 0.510 * (2.000 + 0.000 + 0.000 + 0.000)
] o [BkR = (GRBIE X B4 - FEA) X (ETIER + MEER)) + GRAE X 2 X (RIREE + ARER))
1.051 m3 = ((0.750 * 0.705 — 0.003) * (2.000 + 0.000)) + (0.750 * 0.705 * (0.000 + 0.000))
EETAlE 1 [ = mE X (ETER + MEE + RilEE + MEER)
1.500 m2 = 0.750 * (2.000 + 0.000 + 0.000 + 0.000)
A I 1 [ = WEIE X (ETEE + RRERE + RIRLE + MELERE)
1.500 m2 = 0.750 * (2.000 + 0.000 + 0.000 + 0.000)
B IH 2 [t = miliE X (FTHEE « RIER + RIEE + MEEE)

1.500 m2 = 0.750 * (2.000 + 0.000 + 0.000 + 0.000)

EHITED R L

K = IRHNE X BEA X (ETER + RBER + 3URIER + fEER)

0.765 m3 = 0.750 * 0.510 * (2.000 + 0.000 + 0.000 + 0.000)
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+T T &% E ft E & (& B % )
BRETETIEES - 12007200 H#HEE]
| T@®&s | 15 | TI#E&#M  |KBKEHPPE$50Q [L—rES [ 11 | J—r&% [KiEHPPE ¢ 50241% (i - 1.00)
JEFE R IEIN il B Al 15l / it B BN
FEHIH D R L 2 |EdE = (ARHNE X JEH - B X BTIER) + (RHIE X JEA X (RIBIEE + ST E + MEER))
0.691 m3 = ((0.750 * 0.465 — 0.003) * 2.000) + (0.750 * 0.465 * (0.000 + 0.000 + 0.000))
Ay )E 1 |&hEHRE R = WEIE X JBEA X (ETIER + RIIEE + RAEERE + MEER)
(ElZEHmA) 0.075 m3 = 0.750 * 0.050 * (2.000 + 0.000 + 0.000 + 0.000)
Ay )E 1 i = SR g
(Bl ZE9mH) 0.075 m3 = 0.075
Ay )E 1 | FE = A LS
(FEHI) 0.765 m3 = 0. 765
Ay )E 2 | = WEHIZE2E LA
(HEHI) 1.051 m3 = 1.051
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T T % E 8 E E (fF B % )
BEEEEES . 12007200
IEES | 15 | IE&#M  |ABKEHPPEA50Q - rES [ 12 | JL—r&% [KiEHPPE ¢ 5027 5% (i - 1.20)
Ji& Fi | FH A
LT 1 [ = (BTER + RIEVIEE + RUMEE + BOUEE) + (GERREE - % @miie) X #FmEpk) X ok
6.978 m = ((3.489 + 0.000 + 0.000 + 0.000) + ((0.325 — 0.325) * 0.000)) * 2.000
EES 1 [ = WEE X (ETER + RRERE + RAIRLEE + MELE)
1.133 m2 = 0.325 * (3.489 + 0.000 + 0.000 + 0.000)
] 1 [ = AR X 845 X (E TR + RBER + IR + MEEE)
0.805 m3 = 0.325 * 0.710 * (3.489 + 0.000 + 0.000 + 0.000)
] o [BkR = (GRBIE X B4 - FEA) X (ETIER + MEER)) + GRAE X 2 X (RIREE + ARER))
0.618 m3 = ((0.325 % 0.555 — 0.003) * (3.489 + 0.000)) + (0.325 * 0.555 * (0.000 + 0.000))
EETAlE 1 [ = mE X (ETER + MEE + RilEE + MEER)
1.133 m2 = 0.325 * (3.489 + 0.000 + 0.000 + 0.000)
A I 1 [ = WEIE X (ETEE + RRERE + RIRLE + MELERE)
1.133 m2 = 0.325 * (3.489 + 0.000 + 0.000 + 0.000)
B IH 2 [t = miliE X (FTHEE « RIER + RIEE + MEEE)
1.133 m2 = 0.325 * (3.489 + 0.000 + 0.000 + 0.000)
HHFLD R L 1 [BE = WEE X Eh X (ETIHER + RAER + AR + MEER)

0.805 m3 = 0.325 % 0.710 * (3.489 + 0.000 + 0.000 + 0.000)
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+T T &% E ft E & (& B % )
BRETETIEES - 12007200 H#HEE]
| TrE®&E [ 15 | TiHE®W  |AHKEHPPE$50Q [\-r&S | 12 | —r&% [/KEHPPE ¢ 50758 (13- 1.20)
JEFE R IEIN il B Al 15l / it B BN
FEHIH D R L 2 |EdE = (ARHNE X JEH - B X BTIER) + (RHIE X JEA X (RIBIEE + ST E + MEER))
0.346 m3 = ((0.325 * 0.315 — 0.003) * 3.489) + (0.325 % 0.315 * (0.000 + 0.000 + 0.000))
Ay )E 1 |&hEHRE R = WEIE X JBEA X (ETIER + RIIEE + RAEERE + MEER)
(ElZEHmA) 0.056 m3 = 0.325 * 0.050 * (3.489 + 0.000 + 0.000 + 0.000)
Ay )E 1 i = SR g
(Bl ZE9mH) 0.056 m3 = 0.056
Ay )E 1 | FE = A LS
(FEHI) 0.805 m3 = 0.805
Ay )E 2 | = WEHIZE2E LA
(HEHI) 0.618 m3 = 0.618
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T T % E 8 E E (fF B % )
BEEEEES . 12007200
IEES | 15 | IE&#M  |ABKEHPPEA50Q - rES [ 13 | JL—r&% [/KiEHPPE ¢ 5027 5% (i - 0.80)
Ji& Fi | FH A
LT 1 [ = (BTER + RIEVIEE + RUMEE + BOUEE) + (GERREE - % @miie) X #FmEpk) X ok
2.000 m = ((1.000 + 0.000 + 0.000 + 0.000) + ((0.325 — 0.325) * 0.000)) * 2.000
EES 1 [ = WEE X (ETER + RRERE + RAIRLEE + MELE)
0.325 m2 = 0.325 * (1.000 + 0.000 + 0.000 + 0.000)
] 1 [ = AR X 845 X (E TR + RBER + IR + MEEE)
0.100 m3 = 0.325 * 0.310 * (1.000 + 0.000 + 0.000 + 0.000)
] o [BkR = (GRBIE X B4 - FEA) X (ETIER + MEER)) + GRAE X 2 X (RIREE + ARER))
0.177 m3 = ((0.325 % 0.555 — 0.003) * (1.000 + 0.000)) + (0.325 * 0.555 * (0.000 + 0.000))
EETAlE 1 [ = mE X (ETER + MEE + RilEE + MEER)
0.325 m2 = 0.325 * (1.000 + 0.000 + 0.000 + 0.000)
A I 1 [ = WEIE X (ETEE + RRERE + RIRLE + MELERE)
0.325 m2 = 0.325 * (1.000 + 0.000 + 0.000 + 0.000)
B IH 2 [t = miliE X (FTHEE « RIER + RIEE + MEEE)

0.325 m2 = 0.325 % (1.000 + 0.000 + 0.000 + 0.000)

EHITED R L

K = IRHNE X BEA X (ETER + RBER + 3URIER + fEER)

0.100 m3 = 0.325 % 0.310 * (1.000 + 0.000 + 0.000 + 0.000)
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+T T &% E ft E & (& B % )
BRETETIEES - 12007200 H#HEE]
| TrE®&E [ 15 | TiHE®W  |AHKEHPPE$50Q [\-r&S | 13 [ —r&% [/KEHPPE ¢ 50758 (i73&-0.80)
JEFE R IEIN il B Al 15l / it B BN
FEHIH D R L 2 |EdE = (ARHNE X JEH - B X BTIER) + (RHIE X JEA X (RIBIEE + ST E + MEER))
0.099 m3 = ((0.325 * 0.315 — 0.003) * 1.000) + (0.325 % 0.315 * (0.000 + 0.000 + 0.000))
Ay )E 1 |&hEHRE R = WEIE X JBEA X (ETIER + RIIEE + RAEERE + MEER)
(ElZEHmA) 0.016 m3 = 0.325 * 0.050 * (1.000 + 0.000 + 0.000 + 0.000)
Ay )E 1 i = SR g
(Bl ZE9mH) 0.016 m3 = 0.016
Ay )E 1 | FE = A LS
(FEHI) 0.100 m3 = 0. 100
Ay )E 2 | = WEHIZE2E LA
(HEHI) 0.177 m3 = 0.177
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T T % E 8 E E (fF B % )
BEEEEES . 12007200
IEES | 15 | IE&#M  |ABKEHPPEA50Q - rES [ 14 | JL—r&%  [KiEHPPE ¢ 5027 5% (i - 0.80)
Ji& Fi | FH A
LT 1 [ = (BTER + RIEVIEE + RUMEE + BOUEE) + (GERREE - % @miie) X #FmEpk) X ok
4.000 m = ((2.000 + 0.000 + 0.000 + 0.000) + ((0.750 — 0.750) * 0.000)) * 2.000
EES 1 [ = WEE X (ETER + RRERE + RAIRLEE + MELE)
1.500 m2 = 0.750 * (2.000 + 0.000 + 0.000 + 0.000)
] 1 [ = AR X 845 X (E TR + RBER + IR + MEEE)
0.465 m3 = 0.750 * 0.310 * (2.000 + 0.000 + 0.000 + 0.000)
] o [BkR = (GRBIE X B4 - FEA) X (ETIER + MEER)) + GRAE X 2 X (RIREE + ARER))
1.051 m3 = ((0.750 * 0.705 — 0.003) * (2.000 + 0.000)) + (0.750 * 0.705 * (0.000 + 0.000))
EETAlE 1 [ = mE X (ETER + MEE + RilEE + MEER)
1.500 m2 = 0.750 * (2.000 + 0.000 + 0.000 + 0.000)
A I 1 [ = WEIE X (ETEE + RRERE + RIRLE + MELERE)
1.500 m2 = 0.750 * (2.000 + 0.000 + 0.000 + 0.000)
B IH 2 [t = miliE X (FTHEE « RIER + RIEE + MEEE)

1.500 m2 = 0.750 * (2.000 + 0.000 + 0.000 + 0.000)

EHITED R L

K = IRHNE X BEA X (ETER + RBER + 3URIER + fEER)

0.465 m3 = 0.750 * 0.310 * (2.000 + 0.000 + 0.000 + 0.000)
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+T T &% E ft E & (& B % )
BRETETIEES - 12007200 H#HEE]
| TrE®&E [ 15 | TiHE®W  |AHKEHPPE$50Q [\-r&S | 14 | —r&% [/KEHPPE ¢ 50758 (73&-0.80)
JEFE R IEIN il B Al 15l / it B BN
FEHIH D R L 2 |EdE = (ARHNE X JEH - B X BTIER) + (RHIE X JEA X (RIBIEE + ST E + MEER))
0.691 m3 = ((0.750 * 0.465 — 0.003) * 2.000) + (0.750 * 0.465 * (0.000 + 0.000 + 0.000))
Ay )E 1 |&hEHRE R = WEIE X JBEA X (ETIER + RIIEE + RAEERE + MEER)
(ElZEHmA) 0.075 m3 = 0.750 * 0.050 * (2.000 + 0.000 + 0.000 + 0.000)
Ay )E 1 i = SR g
(Bl ZE9mH) 0.075 m3 = 0.075
Ay )E 1 | FE = A LS
(FEHI) 0.465 m3 = 0. 465
Ay )E 2 | = WEHIZE2E LA
(HEHI) 1.051 m3 = 1.051
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T T & 2 %+ B & (8 & % )
BHEEEEBS . 12007200
TEEE | 11 | IEEW |RIHKED = [ o1 | IW—F&F [#KEDHER (HiE-0.80)
[EE] EH I A
4 B 1 [lE = (ETHEE + ARVIER + AREE + MEER) + (KRG - W@ mbg) X MFmEI) X ki
6.394 m = ((3.197 + 0.000 + 0.000 + 0.000) + ((0.325 - 0.325) * 0.000)) * 2.000
A B 1) 1 [HE = wlE X (ETHER + AREE + AWER + MEALR)
1.039 m2 = 0.325 * (3.197 + 0.000 + 0.000 + 0.000)
] 1 [ = Wl X B4 X (ETHER + AREE + AER + MALR)
0.322 m3 = 0.325 * 0.310 * (3.197 + 0.000 + 0.000 + 0.000)
] o [BE = mEE X B X (ETEE + /BER + AREE + MEER)

0.555 m3 = 0.325 % 0.535 * (3.197 + 0.000 + 0.000 + 0.000)

LB = R X (ETIER + RiER + iRIER + WMEIER)

1.039 m2 = 0.325 * (3.197 + 0.000 + 0.000 + 0.000)

1 [EE = mHIE X (B TR + AR + 3URIER + fEER)

1.039 m2 = 0.325 * (3.197 + 0.000 + 0.000 + 0.000)

2 [ZE = HAE X (ETIER + RIBIER + BIRER + fRER)

1.039 m2 = 0.325 * (3.197 + 0.000 + 0.000 + 0.000)

EHITED R L

1 |[FE = EHE X ER X (ETER + Rtk + RURIER + R ER)

0.322 m3 = 0.325 * 0.310 * (3.197 + 0.000 + 0.000 + 0.000)
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T I % E H E & (8 &8 % )
BRETETEES : 12007200 H#)%ETE]
| T@m&s | 17 | I@%% |[AEEKED - &S [ o1 | IW—F&F [#KEDHER (HiE-0.80)
JEFEp & |t 3 L 151 / it 3 =
PEHIHE O R L 2 |FEE = R X A X (ETHER + RER + RIEER + fMEER)
0.306 m3 = 0.325 * 0.295 % (3.197 + 0.000 + 0.000 + 0.000)
B AL 1 |[FEREEE = WEE X BEAi X (ETIERE + RIEE + RIIEE + MEIER)
(EliZEHEHI) 0.051 m3 = 0.325 % 0.050 * (3.197 + 0.000 + 0.000 + 0.000)
o Uy ] 1 [FE = SiERAEUE L=
(Bl EEHEH) 0.051 m3 = 0.051
B AL 1 |%E = wHEELE
(HEH!) 0.322 m3 = 0.322
o Uy ] 2 |HE = wHIEE &
(HEH) 0.555 m3 = 0.555
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T I % E H E & (8 &8 % )
REtEEEBFS - 12007200
TEEE | 11 | IEEW |RIHKED = [ 02 | IWL—+&# [#®KEDHE(EH#-1.00)
EEE EH I A
S 1 [ = (ETHEE + RIRVIEE + RIEE + WIUER) + (GEFIREIE - Smimsiig X MFmET) X Rk
3.000 m = ((1.500 + 0.000 + 0.000 + 0.000) + ((0.500 — 0.500) * 0.000)) * 2.000
A B 1) 1 [HE = HE X BEh X (ETER + AREE + ARER + MALER)
0.075 m3 = 0.500 * 0.100 * (1.500 + 0.000 + 0.000 + 0.000)
i 1) 1|k = dBBIE X B4 X (ETHE + /TR + RIER + MEERE)
0.675 m3 = 0.500 * 0.900 * (1.500 + 0.000 + 0.000 + 0.000)
HEEER 1 [HE = HE X BEA X (ETER + AREE + ABER + MEALER)
0.075 m3 = 0.500 * 0.100 * (1.500 + 0.000 + 0.000 + 0.000)
FEAEAE F 1 B = EEE X (ETEE + RIBEE + RIEE + HBEEE)
0.750 m2 = 0.500 * (1.500 + 0.000 + 0.000 + 0.000)
JEHIHD B L 1 [HE = fHE X BEh X (ETER + AREE + ABER + MEALR)
0.562 m3 = 0.500 * 0.750 * (1.500 + 0.000 + 0.000 + 0.000)
7% 5y 1 [ = ssimn e LR
(2R A1) 0.075 m3 = 0.075
7% 1 [HE = meEUE LR
(B E) 0.675 m3 = 0.675
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R6. 12 A fE1EhR

KIRDIRIE - Tk I tT®I x x x
1 1 1 iE 2y 3
W S ! = b4 s & £ ;ﬁ )
W ® o o 5 ic i o Z =
| ) &l & 4 i
IS F S Y # 2 Bl e
§ & & 20 E # = =]
= ©) @ ® @ ® ® @ ®
@/@D*2 | B*2+Q ®/@
(m) (m) (t/m-#0) (m) (#) (t) ([D) (1) () (m)
HRA%
GO1-01 0.25 2.0 0.0118 3.0 24 0. 5664 1 0. 5664 1 2.0mEATF|1.1~1.5
G01-02 0.25 2.0 0.0118 5.2 4 0.9676 1 0.9676 7 2.0mEATF| 0.9LF
KiEH
W11-01 0.25 2.0 0.0118 2.0 16 0.3776 1 0.3776 1 2.0mATF|1.1~1.5
W11-02 0.25 2.0 0.0118 3.4 26 0.6136 1 0.6136 7 2.0mEATF| 0.9LLTF
(BERFXIR-TAH - 513kT) _
EHEIE
1.5mELF | 2. OmEA TR [ 2. 5mELF [ 3. OmELAF | 3. 5mEA R | 3. 8mLLF
HR 8.2
K& 5.4
(XRI) _ (ERFXIRER] _
SRIE EHEIE FERE% | HABK ERERAEE |XBREAEE o)
2. 0mEATF [ 3. 5mEAF [ 3. 8mLAF 1[E] 78 1. 5340 1.5t
0.9 5.2 AR
. 0.9~1.1
AA 1.1~1.5 3.0 1[H] 7H 0.9912 1.0t
1.5~2.0 KE
0.9 3.4
Kt 0.9~1.1 URERHMBLA - REER) (REMERER)
1.1~1.5| 2.0 EREEs (L&) ; EfEEs (L&)
1.5~2.0 AR 1.5t AR 3.0t
K3 1.0t KiE 2.0t




